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QUESTION 1

You want to enable an EBGP-based IP fabric to allow ECMP routes to be populated into the RIB. In this scenario, which
action will accomplish this task? 

A. Enable the forwarding-options ecmp-do-local-lookup parameter. 

B. Enable the multipath multiple-as BGP parameter. 

C. Enable the routing-options multipath global parameter. 

D. Enable the chassis ecmp-alb parameter. 

Correct Answer: B 

 

QUESTION 2

You are building a new IP fabric data center underlay network and want to ensure predicted load- balancing behavior for
traffic, traversing the fabric. What are two approaches you should take to satisfy the requirement in this scenario?
(Choose two.) 

A. Ensure that all spine devices are the same switched mode. 

B. Ensure that all uplinks are 40GbE. 

C. Ensure that every leaf node has an uplink spine node 

D. Ensure that every node has a link to every other leaf node 

Correct Answer: AC 

 

QUESTION 3

The two data centers shown in the exhibit need to be connected using EVPN. Which two statements are correct in this
situation? (Choose two.) 
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A. Hosts in VLAN 10 can communicate with hosts in Data Center 2 using Layer 3. 

B. Hosts in VLAN 10 can communicate with hosts in Data Center 2 using Layer 2. 

C. Hosts in VLAN 202 can communicate using Layer 3 between data centers. 

D. Hosts in VLAN 202 can communicate using Layer 2 between data centers. 

Correct Answer: AD 

 

QUESTION 4

You are an engineer for a hosting company. You have a new customer that wants the ability to connect any VLAN on
any port. They want to have all VLANs map to a single bridge domain and EVPN instance (EVI). They control all their
own routing and just need the onnectivity. 

Which two parameters should you configure to achieve these goals? (Choose two.) 

A. instance-type mac-vrf 

B. service-type vlan-aware 

C. service-type vlan-bundle 

D. instance-type virtual-switch 

Correct Answer: CD 

JN0-682 VCE Dumps | JN0-682 Study Guide | JN0-682 Exam Questions                                3 / 4

https://www.passapply.com/jn0-682.html
https://www.passapply.com/jn0-682.html
https://www.passapply.com/jn0-682.html


https://www.passapply.com/jn0-682.html
2024 Latest passapply JN0-682 PDF and VCE dumps Download

 

 

QUESTION 5

Referring to the exhibit, not all routes are being exchanged by EBGP peers. 

In this scenario, which BGP parameter would solve this problem? 

A. mulcihop 

B. mulcipach 

C. mulcipach mulciple-as 

D. as-override 

Correct Answer: D 
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